
 Model 290F 
Fork Mount Drum Handler 

morsedrum.com   Serial Number 417374 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 22 April 2025 Page 1 

 

ITEM QTY. PART NUMBER DESCRIPTION 
1 1 6159W-P BASE WELD, 290F 
2 1 6161-P POWER ARM, REMOVEABLE, 290F 
3 1 6119-P HOUSING ASM, PUMP, PG 
4 4 1169-P NUT, 3/8-16 REV HEX LOCK 
5 4 82-P HHCS, 3/8-16 X 2-1/4 GR2 
6 1 6025-P POWER LINK WELD, LEFT XBP 
7 2 2500-P DRAG LINK WELD, A-BP 
8 1 6024-P POWER LINK WELD, A-BP 
9 2 29-P SPACER, SPUR GEAR .15 AL WSL 
10 2 5522K-P CYLINDER, 2 X 10 DBL ACT, KFP 
11 2 5061-P COLLAR, 1-1/4" ID 
12 4 16-P COLLAR, 1" ID 
13 2 64-P ROLL PIN, 3/16 X 1-1/4 
14 2 5585-P PIN, GROOVE, 3/4 X 2.61 C 
15 2 2506-P PIN WELD, CYL, 285A-BP 

https://morsedrum.com/


 Model 290F 
Fork Mount Drum Handler 

morsedrum.com   Serial Number 417374 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 22 April 2025 Page 2 

16 2 15-P COLLAR, 3/4" ID 
17 1 M3530ASM-P HYD POWER PACK ASM, 290F 
18 1 388-P BATTERY, 12V DC 
19 1 6186R-P LINKAGE GUARD, RIGHT 
20 1 6186L-P LINKAGE GUARD, LEFT 
21 1 2162-P CHAIN, 1/4" PROOF COIL, 4 FT 
22 1 5713-P CARABINER, 7/16 OPENING, 286-1 
23 1 4079-P HHCS, M8 X 60 MM CL8.8, 8MM 
24 1 4081-P NUT, M8 ESNA, 8MM 
25 1 5683-P DRUM GRAB ASM, 290F 
26 2 5330-P SNAP RING, EXT, HD, .078, 3/4" 
27 4 6086-P BOLT, 5/16-18 X 5/8 WHIZ 
28 1 3221-P HYD FIT, PUSH LOK 1/8 X 3/8 
29 1 6220-P HOLSTER, WIRELESS, 290F 
30 4 193-P SCREW, TEK, 12-14 X 3/4 3 PT 
31 1 6112-P PENDANT ASM, WIRED, 10' 290F 
32 2 3838-P HHCS, 1/4-20 X 2 GR2 
33 2 1518-P NUT, 1/4-20 NYLON LOCK 
34 2 6039-P HYD FIT, SWIVEL, SAE / FLARE 

 

 

https://morsedrum.com/

